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.Coluulahngz

The maths learming child & completing at schools looks different to- the ‘sums
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confident v supporting your child, at home.

.Addihom—Colmeeﬂwod,

L ing Objecti convered inv yb:

6.5 Solwe addition and, subtractions multu step problems irv contexts, deciding which operations and
methods to use and, why

Vocabulany used:

add, altogether, strategy, method,

M Emautthethnbw are Where the, s "
635,369 + 589,362 e up invthe corvech moresthan one digth the 2(.7.36 + 96.278
635564 value o ob e e 207360
. | Always starb add: total irv that column, .
580362 + | Aways st adding, 278
122L.73] thery move from the A zero- can he added, 3/.3.638
Rght to the Lef by ct ther end of o
adding eachs columru numbepas,a,'plum
I holder,
L ing Objecti convereds iny

615 Soweaddmomandsubhaohmmultustﬁppxoblfnwwcont@xt& dwdmg;wl'u,c}voper\ahon&wld/
methods to use and whiy
Vocahulary used:

EMQ@ Ensure all, the rnumbenrs, Where t, isrvts possible
are lined, up irv the, to- subtract because it
867,362 - 54,9273 correch columns to- will end, up as o q - 3563
match their walue: negative e 5-9, we
867362 need to exchange from 6.000

the nesxt column,
Abnays start subtracting with
S5L9273 - the ) Zeros c::;alol'sobe //AS_QS
: 2.L.37

the ni the
318089 Jromthe wghb to the b by




@ Multiplication - short and long multiplication

L ing: Obi covered iy

6..6 Mdhplg/nudhrdxgbnurnber\&uptoh digits by a 2-digib whole number using the formal, weritery

Vmwusedc
Examples:

Sho{\tM ll- l. |. ( ||. I - b‘a,ld‘lgit) LOfIg,M ||. l. |. ( ||. | . bg/z |. .l )
65932 % 6 Freure dll the numbers With, multiplication, multiply 5632 x 6L
65932 — " 5632

When multiplying tens
.%5“6 A start multiplying, with wmnmstb&pubdowwﬁpstdffm\\ X 6L
the ones columm - then move show the, numbers value as o
395592 Muwmg}‘ttoﬂ\blgﬁ,by, power of 10. E.g. 60 not 6. 2528
mlbplying cach Once both digits hawe been, + 337920
multiplied; the totals carv be added:
together to- get the: answer: 360L.L8

. Division - bus stop method:

L ing: Obi covered iy

6.7 Dw«denumbﬂ\&uptoﬁ. dlgxf&bgzalz-dig,{t
long dindsiory and i
appropriate for the contest.
Vocabulary used:

Caleulate, method, value, answery, divide
Govions hove, dable by oot oL cperaten verse i

Examples:
. - |. |- -l l& . . . lln‘ﬂ‘b U\‘W a& . . |- |- .l

5632 - 7 numbenr ab the start, of 6352 - 21, 2L,

the bus stop. Whrite down the times,
tables ab the side to —» | L8
Place, any remainders same time, 72

0804 ~ L nexd to the : 0263 r 20

number so it carv be Place aruy remainders q6
75632 Wa& o tens nexd: to the following, 2L| 63157 120
' I, L,

Remember to express Rememben to express

any remainders ab the any remainders ab the




